EARAZROREIERT — 2 N—XBISY —F 20152878 (£) 2EIZ=#ER3H

BNz 7 >s #—7> ¥5%3@& (Ba) # () RIE (x| EsE = o0 oo
[A&4£] 1 7 19,000,000 § 2 3% :7,600,000 3 3&:4,800,000 4 3% :2,900,000 5 7% :1,900,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 4 3 | tAR— 1:35.3 6-5 33.5] 96.2 | 1 494 | BEHN (FEH)
JWIFI 54.0 ot} ) | @ *rnyh7r—h
LFA =TT N BiILYT J—H T — L
e— = BEEET :35. - . . =g (EX)
FHZT5T— ft 9| Ehe 1?25)6 9B 80T :T:) EBL-S>5557
B2 Y E—y B:AHUHO-X KEHE
% # 3 | C. FhA-R 1:35.9 32 344|882 | 5 | 40 |REER (®EER)
v 54.0 @) (-2) SFEANF—LTF 1T (15)
Li¥rs07oq BITTFIVvT— HET7— L
N & FEREE . - MHEER (EXR)
Y RhIETp— 4 3 e 1(.13;32.)0 1-1 34.6| 8.1 | 2 (ﬁsg) éii’a
X THANAN B:E4TIXEY v b AL
R 4 3 | AL Yazlg 1:36.0 4-4 34.4| 87.3 | 10 | 452 |/NEE (FR)
501]1 | INFS T 540 (745%) oy | ) T A -
R:viNyBhTr BI-NWKRI5-Ta Etrrie]
s = ft 3 | EHBZ 1:36.3 11-10 | 34.0| 85.0 | 6 454 | ExH= (ER)
67|10 71— TAITA 54.0 (1 3/4) (o) | EIERIE
LN=v754 B:L1F7ILY ppal=lazse]
3 4 3 | EKHE— 1:36.5 8-8 34.6| 81.9 | 4 436 | BAkER (RR)
7157 | ¥ ¥Ib—Ib 54.0 (' 1/4) (4 | B ¥rOybT7—L
L:€>r/07nad4 B:JILA T4 —T7— (B) A3 -FRL—->a>@aEI7
# 3 | ENEE 1:36.6 2-2 35.1| 78.2 | 11 458 | BREBFIZ (RR)
EH earrr e (2 () | WARE
X7 T—RMVXTT—h BANRIpIVEE— RS
S 4 3 | IUE—EB 1:36.6 4-5 35.0| 78.7 | 3 460 | FEBE (FR)
9(8/13 TXAHEL 54.0 (7€) (+6) HHEALE
R:TZ79v 784K B: X917 hLI—F ZHEKE
4t 3 | =X 1:36.9 12-10 | 34.4| 785 | 8 458 | ROER] (R=R)
10§@ 11| 2*/# L7 54.0 (1 3/8) (4 |BERE
R:¥x>ovH /%% B:aAx/FrT Jl¥s  IEfE
5 S i3 | K2 1:37.3 6-5 35.5| 70.5 | 9 420 | HREEF0SR (RR)
EH g|7LARTIT =R 5470 2 1/2) (g) | W) ST —4TTLy KL
RN=YI54 BiEZINAILT BMEAZZY K
CZ S 4 3 | AEEN 1:37.6 12-12 [ 35.0| 70.5 | 12 | 426 |3REAIERI (FH)
12(8[12| 71—V RERXT v E 54.0 (1 3/4) Gay | B FAVELETr-4
Ry —3IUFL B:T74—ILRIER GAVELRT7— L
= 2 o f 3 | EEERA 1:38.6 10-13 | 36.2| 57.2 | 13 | 486 |HEHEE (t7)
13/5/6 | BT 1—=7U=2X 54.0 ®) @) | B H=2HT
R:T7V17143VF— BAIXTU-X pailzcbie)
@ 71 L
) 46.2-33.9
NaO>24 L | 12.8-11.3-12.1-12.9-12.3-11.2-11.2-11.5
@ 1—F—@&BIEf
13—7—
23—7F—
33—+— [9,3,5(1,13)(2,8)7-4,6,10(11,12)
43—73+— [9(3,5)1(2,13,8)7,4(11,10)12,6
[ RN
B OB 2 340M 714K 2-4 960M e & 2-4 1,070M &R 2-4-5 7,710
8 B 2 1509 2-5 700 B & 2-4 2,120 3B 2-4-5 30,490/
4 330H 4-5 2,000M B H 2-4 3,490
5 270M

ABICOVWTRDTEEERROODE. TR LIV,



